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(Expected Umt Sales r Vanable
‘Unit Cost)

Total Cost:

The sum of the fixed cost and total
variable cost for any given level of

production.
(Fixed Cost * Total Variable Cost)
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Cost/ S Pnce-Vanable umtr
Cost*Umts
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'f-s{3o 000 divided by ( |

_ }‘%;6000 units. e

' This is the number of products that have to
~ be sold at a selling price of 12.00 rs before &
your business will start to make a proflt '
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. %
| The Break-even point *
occurs where total
revenue cquals total
costs — the firm, in

this example would
have to sell Q1 to
generate sufficient
revenue Lo cover its
costs.
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£3) the TR,
curve would
be steeper —
they would
not have to
cll as many
unitsto
reak even

. » banant
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Break-Even Analysis |

wquld fieed
 to sell more
units before ¢
Overlnn 1t°., 3
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Break-Even Analysis -
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HeIpful ln decnd;ng-- abcut*the substltutlon of
new p!ants - o |
Helpful in saies pnce and quantaty
Helpful in determanmg marglnal cost
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7353”"“93 averageﬁ. janable mst are C
per unit of output 7

equai to the quantlty‘-; ‘goods scid (l'e.‘, there Isn

change in the quantity of goods held in iinventory
at the beginning of the period and the quantity of
- goods held in inventory at the end of the period.

- In multi- product companies, it assumes that ihe =
- relative proportions of each product sold and
s produced are canstant =
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